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QUESTION 1

A BPM Applicaton developer is miiratni a process applicaton developed in aversion of IBM Business Process Manaier
prior to V8.0 to V8.5.5. Once the miiraton is complete, how can the BPM applicaton developer take advantaie of the new
BPM V8.5.5 client-side human services capabilites? 

A. Convert the heritaie human services that use runtme collaboratons to client-side human-services. 

B. Replace the existni heritaie human services with client-side human services and reuse the existni heritaie coaches. 

C. Replace some of the heritaie human services that have performance issues related to too many server-side calls with
client-side human services. 

D. Reuse the heritaie human services server-side script initalizaton syntax for complex variables in the client-side script
of the client-side human services 

Correct Answer: D 

 

QUESTION 2

Per the followini exhibit, when a claim is submited, the claim manaier must be notfed. If the claim damaie is more than
$500, a damaie report must be provided and the insurance aient will be notfed. In some cases, the claim manaier will
receive duplicate notfcatons from the claim submission process. 

Which opton will eliminate the duplicated notfcatons problem? 
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A. Exhibit A 

B. Exhibit B 

C. Exhibit C 

D. Exhibit D 

Correct Answer: B 

 

QUESTION 3

Durini the current playback phase, the BPM applicaton developer is creatni the to-be business process defniton for a
process applicaton. Which playback phase is the BPM applicaton developer is currently in? 

A. Playback0. 

B. Playback 1. 

C. Playback 2. 

D. Playback 3. 
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Correct Answer: A 

 

QUESTION 4

In order for a underwriter to review a mortiaie loan applicaton, the applicant must frst complete a loan applicaton, then
obtain employment verifcaton, credit reports and property appraisal (which can occur in any order). The review by
underwriter actvity must run exactly once. 

Which iateways should the BPM applicaton developer choose in this scenario? 

A. Parallel split and parallel join 

B. Parallel split and exclusive join 

C. Inclusive split and inclusive join 

D. Exclusive split and inclusive join 

Correct Answer: B 

 

QUESTION 5

A tre producton company requests to be informed via email if a new custom-ter request approvals take too loni. If 20
approval steps take lonier than 2 hours, manaiement must be informed. 

How does a BPM applicaton developer solve this request? 

The BPM applicaton developer creates: 

A. A scheduler which queries the database and sends mail if the conditon is met. 

B. a SLA with a "Violated N tmes over period" triiier and "send mail to" as the consequence. 

C. A SLA with a "Violated N tmes over period" triiier and "starts a service" as the consequence. 

D. Trackini points or actvates auto trackini and creates a report which shows the required approval-period. The
customer can supervise the SLA themselves. 
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Correct Answer: C 
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